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1. NHs  MoINH5)= 151443 = 17
2. CO:  MW(CO= 4244462 =
3. Be  Hw(ee)-9
y. RO MWRO) 1B-2+16= 54
5. Mg(NOs):  pulkgivgh)= 24+ 12+ et = 1
6. Pb  UwlPy- 207
3. H3COCHs  Mw(HeC:0)= 61+ 212+ l6= 4
8. (NHW),S  MOMN:HS) = 142+ 81437 = 63
q. FeCls  Mw(RCls)= 56+353= Iol
0. Sy Mw(sy)= 832 - 26
#. H3POy  LW(HsPOL)= 3-1+3l+4-16 = 48
1. CHs(CH)sCOOH  Mw(CsHwO,)= 312+ 114+ 216 = 130
8. AuCOs  MW(RuC0s)= 197+14+ 163 = 254
w. Py HW(R)- u-31= 124
1. HsCCiHuCOH  MW(HyCy0)= &1+ H-12+16= 72
6. CHsCH.CH.0H.  Hw(CsHq0)= 3:12+9-1+416= 6!
#. T,  HW(T)- 2-122 =254
8. PHs  Mw(PHJ)= 31+31= 34



